¢ Er gk~ ¢ g WO 100 E ATiR OB BN

*HE BRI~ i e S

= MR

JEERFRAE RS F ~ RIHR > FH T R F AR RRERATARR oG AR D THE
ARG BRI A A o
2$$%~%ﬁa’?ﬁﬁgﬁ%’+u£’mu¢\géﬁié&4§%§$%Jﬁ§’i%mﬁﬁ
EH-FRLER EF FURE S Ik 0 2 SRR AT -

3 ad k54T RE L RR B U TTRHPAEFERAML ERY F 2 B
4%{&@@@??%@@4;gﬁ@%Ewwﬁﬁmﬁxﬂﬁmﬁamﬁﬁ»ﬂu)’“%£?m§§,
FHAERLL T FE BE L %*’ﬁ%ﬁmz’ﬁﬁa%*ﬁ’f?*WOQ?ﬁiiﬁﬁ
ﬁdﬁa&fﬁ%%iéﬁﬂﬁﬁﬁxéﬁﬁ

58585 F 08y ABwEIZPMNELTE o

=

-

(1) AALBIF * Ay
ip = *Y(PM) ° (4%)
HE AR
5L
AP AR
Ap g

(2) Fp AR AFIEY GM ~ PM & ) Sufg Tt 2 B B - (6%)
# B YGM) :
tp = *YPM) :

() ¥ o — B iw EE & SLHEAS Sdiche T

P 2 AR TR A S EIRD P 3 M F ARER B F 2UGM) ~ AP i AR

G(s) = 2000
YT GFDE +10)(S +50)
’%_éél e 3L°G(S)~/ﬁsf&§](»ﬁ' 7 z}\ g TER) o (11%)

(4) K3) > F R DA F AR B F B UCM) AR i AREE S AP i FU(PM) © (4%)
ﬁ\‘ N

(1) £~ Rz &5 S8y (s)/R(s) ~ E(s)/R(s) * (16%)
(2) FR(s) 5 W 2 1 vt » Fe(D) 2 A& 1 - (9%)

R(s) _E(®) s+1 1 Y(s)

Ki?a- -
u - s+ 2 s(s+3)

R AR R R T St

Y(s) 452 +2s+6
R(s) 2s3+6s2+8s+ 10

St

(1) e 2308 5k S 4 4% 8 3] (CCF) e j
Q) M BAEEAN G Sk Lo ip] 4 4R & A (OCF) che
(3) & Tyt i sz CCF % i Bl » (5%)

B X k%2 3 BUBAeT

R(s) __E(s)

S A2 o (10%)
fi > 258 o (10%)

Y(s)

K, PO— R
o 25 s +10] |[s2
Kis

(1) 3 0t 5 S a5 SleY () /R(s) 1 & e A258

() Ky =55 B Nt 5 HIET2K R - (5%)

(3) £Ky =0 3% #1K; 2 02 {2 §Lin ] -
2 - (15%)

> (5%)

(3422 ]

TR RGeS & R PRER LB 2 A A



